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However here, where there is no X112%7 X997; no

OVERVIEW

The X3 explained that if the 7awn would teach us the rule of 757 X7 OKRW 7197
70w regarding the case of 11»°7 NP ™1 AR YW 11 7w [where there is a X797
X1m17], we would not know that in the case of 2°01K 2R 737 X177 °"'N2 MKW D7V
131 117 that they would be believed on account of 131 70Xw 11577 [since there is no
X117 X777 in that case]. N19oN asks that there is a better reason why the mwn
needs to teach us the rule of 70Xw 7197 in the case of 1RY *7v1.

nvoN asks:
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The X' 2w has a difficulty; but it is necessary for the Xin to teach us regarding

the case of 1KY @vy7YT —
- Y0YN 909Y 13193 13T

That the 07y are believed with this 12 (of 7°nAw 757 X177 OXW 7197) to invalidate

the "W and we cannot derive it from the case of 11 77w (even if we disregard the distinction of

X117 XI77) -
42 NYIA NI 3NDYON 21109 9INM 2297 2) DY GN NPT

For we seec that even though %' argues with the ruling in the 7wn» regarding

the 82°0 (of 1XYW 1>7v7), nevertheless n"7 admits regarding the Xws9 (of v 77w)
that in that case we do say 7oxw 17971, °

SUMMARY
The X713 could have said that it is necessary to mention the case of 1Rw 2°7v7 to

! See previous X2°X7 1"7 '01n for an explanation of the meaning of X1v17 X777 (according to 'on).
2 Others amend this to read: X9°OX 75 X2 770 RA.
3 The x9°0 refers to the case of 1xw 0>7v17 (on 2,°) where the Xn»"2 there states that 2" is of the opinion that the
o°7v are not believed to claim 137 M7 99109 1177 2°30P 1177 201K 7aR. The reason »" maintains we do not say 7197
70RY in this case is (see X, and '01n there X»yv 7"7 ) because 1" maintains 1°°p% ¥"X 1202w VW2 770; meaning that
a 1 is not effective against a 7ww. Similarly the "oxw 719 of the 7V is not effective against the q0w. See ‘Thinking it
over’.
4 The xw™ refers to the case of 7°aR %w 7 77w (on 2,70) where we do not find that n" argues with this ruling.
> mooIN question is that we do not need to distinguish between the cases of 11Xw 0>7v71 and 7 77w by saying there is
no RNANT X717 by 0°7¥ but there is a X117 87177 by 11 77w (a distinction which is not accepted X1pon?), but rather that
there is a Xin who actually maintains that we say 708w 71977 only by ¥ 77w and not by 1nRw 2°7v7; therefore it is
obvious that the 7wn needs to inform us that notwithstanding this (2"7) Xin, the 0mon maintain that by o7y we do
say TOXw 7197 even to invalidate a "vw. See ‘Thinking it over’.
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negate the view of n"".

THINKING IT OVER

moon asks that the X9°0 (of @7) is necessary in order to negate the view of n".%
Seemingly this is an answer if we maintain 7>p% X"X 1205w Vw1 77%;’ however if
we maintain 1°°p% 7% then (if not for the distinction of X117 &777) there would
(seemingly) be no reason why the 0°7¥ should not be believed with the 7oxw 757.
Perhaps the X713 wanted to explain the Xm>»X even according to the 7"» that 7%
M»p2, so what is MpOIN question?!?

6 See footnote #5.
7 See footnote #3.
8 See apy> ma (1"W).
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